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HH - B (3H) - KA - BYS 0l &t o il Bl RE2
27,421,136 22,902,812 4,518,324
AlH 124,800
T Hl 27,296,336
21,556,785 17,149,619 4,407,166
Al HI 124,800
-l 21,431,985
WHEE MzEE =4 14,682,723 13,821,430 861,293
Al HI 21,000
I 14,661,723
MEHIIE Ml 14,318,708 13,519,790 798,918
201 Let24E] 52,318 56,748 A 4,430
01 At 22l 31,020 35,750 A 4,730
OXY2SHINZH LA ALY SN2
700,000& 12 8,400
OFEA2EE ¥ 30,000& x99H 2,970
OFAYS MA M= 400
M DS S0 AEIA 2503 =1,0000H 250
R TP 302 5, 00000 150
OMEHIISAY ELS(HY)
100& %20, 0000H *90% 1,800
OLBHHAX AR (B4 S) 6,600
AMOIEEH 4 150,000 = 1371 3 CH 5,850
EdESd4 250,000 »1JH »3CH 750
OF4Il AR (ZBAUIIA AR, AMBEIDX)
2,700,000 2,700
Ostzdilsta RFeld M=g9 5,000,000 5,000
OMBHIIZ 4% - 20 H#AH B g
70,0003 »9H »5 3,150
=323l 21,298 20,998 300
OXNg2HIIEHN Sz XS
15,4003 +870H x12& 16,078
OFAXLLXN &Iz 210,000& 128 2,520
OHAXDX & -ot=&2 450,000 x63] 2,700
203 YR = &b 810 810 0
03 Al F=XH R =AH| 810 810 0
O&Aze Z2FA 900,000& *90% 810
206 M= Hl 460,280 466,070 A5,790
01 M2 4l 460,280 466,070 A5,790
OZHNsSE MAH 443,480
LS 443,480
- 54 31& 900, 000 0H 27,900
- 104 38& *1,500,0000H 57,000
- 204 57& %900, 0000H 51,300
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- 304 85& *x290, 000 0H 24,650
- 508 1243 450, 0000H 55,800
- 754 169& %400, 0000H 67,600
- 104 (KHAFE) 413 %630, 0000H 25,830
-204 (THAF2) 58& x2,300,0000H 133,400
OOtcH M 16,800
-30¢ OICH(HEHDIIS) 3502 %13, 0000H 4,550
- 30L OtCH(= M) 3502 *x35,0000H 12,250
301 dEtE X = 10,649 12,373 N1,724
0B A ERILAZ 10,649 9,573 1,076
OFAMIALRE X 10,649
s2 676,100& x1H x12& 8,114
= AH| 7,000 x1H*x222 x12& 1,848
mE==sl 2,600 x1H*x222 x12& 687
307 QI2t01 ™ 13,033,500 12,271,200 762,300
05 A2t E = 13,033,500 12,271,200 762,300
OMBHIIZ +7 - 24 129442
3,000,000,000& 13,000,000
OJIs&EA HII=2 98 Hel 13,500,000& 13,500
SSAMA HAEHEI 20,000,000& 20,000
308 AXISHMSOIH 121,151 62,117 59,034
12 JEtRE2 121,151 62,117 59,034
QHIIEZHdERY=2 121,151,000& 121,151
403 ItXISHH S K201 640,000 640,000 0
02 SISO 25 e A I 640,000 640,000 0
OHJIE Bt 2 S 16,000& x40,000& 640,000
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201 2et2d]| 6,400 0 6,400
01 At 2teltl 6,400 0 6,400
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01 A& HI 30,000 35,000 A5,000
OZ&EJ,&=571 s =2 20,000,000& 20,000
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11,0002 x158E * 123 20,856
ONg=2s(Hgas) 28t 255,900 »188] 4,607
401 A& HI L 2T 3,080,700 0 3,080,700
01 A€ HI 3,080,700 0 3,080,700
Oongssded (AR e
3,080,700,000& 3,080,700
403 TR EHHSA=01H 26,880 26,880 0
02 SIS0 Uet == AE AL 26,880 26,880 0
OME S (Htle) HMeldl
16,0003 x140= 122 26,880
Hegss+% 10,970 22,770 211,800
201 2Bt2 5,470 5,270 200
01 At2 22l b 4,590 4,390 200
OA&EX 7 1,000& *1,000Al & 1,000
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O1gE28RM E2= MZE 1002 *2,70001 23] 540
Olal28ctA8d et Z2HE2SE M
430 x5, 00004 2,150
02 232 H4| 880 880 0
OloT &0l 22t & S X2l
44 000 «50H x4 & 880
301 dEtE M= 5,500 5,500 0
12 JIEtE A= 5,500 5,500 0
onegass =&8&¥d=2 200,000& x12& 2,400
OMEEE =& Z2AU3 Ala3 2,600
e = 700,000 10 = 700
-2 % 500,000 20 = 1,000
P 300,000& *3 = 900
OelZIJIBEEZZ2 0X2 AlD8a=Z2
50,000& *103] 500
SAZFHIIES A 3,106,640 2,960,268 146,372
SASFHI=S Mel 3,106,640 2,960,268 146,372
201 2Et24A Y| 28,300 60,268 A 31,968
01 AP 22| d| 28,300 60,268 A 31,968
OSASHIIS L2YS M
242 «60,0000H x12& 17,280
OSASHIIE +FHE M
4521 %2 0000H ~12& 1,080
OSAMERHIIE 222 HE
100 *2,0000H *23! 400
OZ=FE MSSIHTEZ AL (2SI|)2HH|
265,000 «3CH x12& 9,540
301 et A =2 3,440 0 3,440
12 JIEtE2 A= 3,440 0 3,440
OSAESFHIIS ZHIEQAERN CHEE X3
430 +8, 00004 3,440
307 2iz2to| A 2,720,000 2,720,000 0
05 QIZ2tR E 2 2,720,000 2,720,000 0
OSAESRHIIS vslenel
170,000 «16,000= 2,720,000
403 XX SHHS K20 & 354,900 180,000 174,900
02 BI2SOHUSRA=2EAEAISHI 354,900 180,000 174,900
Aol MHe & SAZFRHIIS Hel
18,000& «1,300= 23,400
OMITATIALE SAZFHII=S Al
75,000& *4 ,420= 331,500
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SA - BB B (EH) - NRAY - BES of & o San HI D2
835 427,543 204,612 222,931
AlBI 24,000
-l 403,543
=3 Ss53dd 29 418,508 195,217 223,291
Al'HI 24,000
-l 394,508
201 £et23E | 58,508 55,217 3,291
Al'Hl 14,000
-l 44,508
01 At 22l bl 32,000 28,709 3,291
Ossstad | 22 15,000,000 15,000
Ojgstaa 24 14,000,000& 14,000
AlBI 14,000
o2 B HEE S 3,000,000& 3,000
02 B32gHl 26,508 26,508 0
O s3ATE 55R= 26,508
SHAHI A SAE  7,0003 120 A +120H = 1,008
ISP = 21,000 5100 A =120 & 12,852
ool 2 23,0003 5104 2«61 = 7,038
e a2 110,000& »510H & 5,610
307 212t0l & 265,000 65,000 200,000
05 QIt2IE =2 265,000 65,000 200,000
Oss=aa 2 265,000
&X & SSEa 2 200,000, 000& 200,000
Sl S53Ed 22 65,000,000 65,000
401 AIEHIZ 2 I 95,000 75,000 20,000
AlHl 10,000
el 85,000
01 A€ dl 95,000 75,000 20,000
OZsaEA e 40,000
S N - E=x 40,000,000 40,000
Ossidt sdl2 27 3&3d 23
25,000,000& 25,000
OFAAES McHAlSEA A 20,000,000& 20,000
AlHI 10,000
-l 10,000
O3sstaa =2 10,000,000& 10,000
Mol StaHe AL el 7,685 8,045 A 360
201 L Et2A | 623 983 A 360
01 AtR 2t 2l | 623 983 A 360
O&stx A SN M 363,000 363
O2ZESE 260,000 260
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307 glztol & 7,062 7,062 0
05 22t & =2 7,062 7,062 0
OHA UK 2L
1,100 «107,000ke *6% 7,062
OS0E &4 2= 1,350 1,350 0
201 LBt2 ] 1,350 1,350 0
01 At 22l bl 1,350 1,350 0
OSS3ad 2IMEES 1,350
S X & 2= 500, 0002 *2H 1,000
o Xt 6,000 251 150
HZHE M 200,000 200
BHSYYH (W& ED) 5,864,351 5,753,193 111,158
el 2l 5,788,053 5,676,895 111,158
eI 2gl 5,788,063 5,676,895 111,158
101 @124 8] 5,655,541 5,551,944 103,597
03 ZRA(RINAHA)2ETNE S 5,655,541 5,551,944 103,597
oeziletA 5,646,541
l=s 3,522,370 x99 x 12 4,184,576
YHg 90,000
- bESE (A 40,0002 x75H x 12 36,000
- bESE (018 50,0002 *90H 128 54,000
Scl=dyl 445,292
- A=A 140,000 x99 123 166,320
- 230l 3,522,370 «99H x40%+*23] 278,972
T2 926,673
-R22fsH
19, 1812 *4 Al 2t % 150%+99 H «52& 592,463
-OAXESFIE 19,1813 #8Al 2Hx99E #22& 334,210
Ootstd stdl X&=3 300,000& » 12| x30H 9,000
303 L& = 132,512 124,951 7,561
02 dutad= 132,512 124,951 7,561
odghyo=s 3,522,370& *38%*99YH 132,512
Jl=23bl 76,298 76,298 0
1=l 76,298 76,298 0
201 2er= Yl 16,070 16,070 0
01 AtR 2t 2l bl 16,070 16,070 0
OFRN=2E+8Hl 7,776,000& 7,776
OJlzge=d sl 8,294,000& 8,294
202 O 4 56,448 56,448 0
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01 = LH 4 bl 56,448 56,448 0
OJIege=ad0dl 280,000 24«12 «70% 56,448
203 YR =2t 3,780 3,780 0
04 EASIYRFLH 3,780 3,780 0
ORN2EYE=AHI 4,200,000& *90% 3,780




